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O\Tmﬁ\ﬁ\.ﬁud, 5_AL proteins instruct the nucleus whether to proceed through
the cell cycle. And an error in one of these proteins can cause diseases such as
0\950\@,\ _which is the result of uncontrolled cell division. (5.1)

Asexual reproduction requires only Al parent, and the resulting offspring are

genetically fgmjvﬁﬁp@ to the parent. {5.2)

Types of asexuval reproduction include: (5.2) i
o Bssion _ Vi @Ed%ﬁﬁ 3@&0 OT\QA
Iudgtineg St dvmnathon
Noomentzbon _

Ic303-omm_ﬂmo_muku2 and animal cloning methods can be used to save the genetic
information of endangered species or to produce an organism with a desired traif. (5.2)

Chapter 6: Meiosis and sexual reproduction

Meiosis produces specialized sex cells called DD_\S@WV that have thm

]
the number of chromosomes as body cells. <
--> human sperm has .QMNMWY chromosomes and eggs hgve hﬁ chromosomes (6.1)
m The process of meiosis creates Qﬁ)m*/n\ Owﬁ\@?,m in organisms because genetic
/ information is shuffled during Smﬂ.om_.,.. l. (6.7) =
/ s Onyomcsd Mal  mutations can occur during meiosis and can cause
,\ 4 genetic disorders. (6.1)
m B The three stages of sexual reproduction are:
6 J " Em w —> h”/m\ﬁ _9/ { g_?,o V> Orm\,.\d HOQE_SA_\Q&
B For sexually reproducing plants and animals, there are two ways for a wUmﬁy\_ celland an
egg cell to meet—through either ,5./@%8’, or mx.r‘@\j\\,;
fertilization. (6.2)
B There are advantages and disadvantage for sexual and om.mxca_ reproduction (6.2)
B The early development of an organism takes place during a stage called
@\555\—05,_ (. development. (6.2) _
B Assisted ﬂquuoacoz,\m technologies enable »Sh@ﬂ\f g couples to have children.
(6.3)
Matching
1. K‘ golgi body A. sperm & egg
2 MWI nucleus B. transportation network of a cell
3 I,F mitochondrion C. stage of development after the zygote phase
4, Irhl nucleolus D. the control center of the cell
5. W haploid E. protein factories of the cell
\ 6. |®.|| zygote F. a pair of maftching chromosomes
7. A gametes G. a fertiized egg
& m‘. lﬁ| fetus H. change glucose into useable energy for the cell
9 |Lmu.| homologous chromosome I. cells that can become any body cell
10. bni embryo J.  two sets of chromosomes
1l |\w|\| embryonic stem cell K. stage that follows embryonic development
1.2: bl diploid L. ﬁo_.csa inside the nucleus and makes ribosomes
13. lumw1: endoplasmic reticulum M. sorts and packages proteins for transport
14. k‘ ribosome N. one set of chromosomes

Complete the base pairs for the following:

¥y E i eABTICEE ATLAG
TGGALTCARGLGTAT C

‘ \ﬁ\/
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Goal * Review your understanding of mitosis and meiosis. q

Match each of the following descriptions with the corresponding event depicted in the diagram
below. Write the correct letter in each blank.

Mitosis

original cell

Meiosis

original cell B

m

_ Chromatids are still joined in meiosis, but not in mitosis.
(Y 2. Chromatids separate.
M ¥ @ 3, Chromosomes double in both mitosis and meiosis.
4

 Mitosis is complete, but another division is about fo take place in meiosis.
The chromosomes line up along the centre of the cell.

.\WW@ | (_ 5. Inmeiosis, the chromosomes separate buf chromatids remain joined. In mitosis,

chromatids separate.
A.mv " 4. Chromosomes line up in pairs in Meiosis but not in mitosis.

m,uu 7. End products of meiosis

8. Use "haploid" and “diploid” to compare the end products of meiosis with the end
products of mitosis. How do they differ? %
N MeoSIS : ve. ha

A\ =
AH@,/U PreC COme 5,@ meuisis Qre OQ:JNQF TWJON\Q S |
Jatement is true, write “T" on the line in front of the These si

Read the statements given below. If the t
statement. If it is false, write “g" gnd rewrite the statement by changing the underlined word(s) to ?}om S

make it true. - =
Ouve ﬂwé e
—
Y 1. Gamates have twice as many ~hromosomes as other cells.

.M\ 2. 7Zygotes are produced by the union of sperm and egg cells.

- e

\ﬂ. 3. Meiosis may form egg cells.

ﬂ 4 Gametes are formed during mitosis.

i Rodu cells
/ J

4. 5. Four new cells are formed from each parent cell in meiosis.

X
=

1P s

Y 4. There are two cell divisions during mitosis.

. m 7. Haploid refers to the gametes of a cell with only one set of chromosomes.

w 8. If a cell with six chromosomes undergoes mifosis, each new cell will also have SiX
chromosomes.




